Moto-All.ru

CITMCOK OETAJIEY NIJ1d "ALTERNATOR STARTER GEARS" TRIUMPH

SPRINT ST

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

303366

© Copymaght Trurmph Dessges Lid



CITMCOK OETAJIEY NIJ1d "ALTERNATOR STARTER GEARS" TRIUMPH

SPRINT ST

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T1220268 Cpok noctaBku 0T 27 gHEH SHAFT,SPLINED,ALTERNATOR DRIVE
2 1220330-T0301 CpOK IIOCTaBKH OT 27 OHe# THRUST WASHER
3 T3051063 Cpok noctaBku OT 27 gHel SCREW,CAP/HD,M6X1X16,ENC,RAW
4 T3800011 CpOK ITOCTaBKH OT 27 OHe# BEARING,BALL,254712
T1221025 CpOK IIOCTaBK# 0T 27 fHel ASSY, SPRAG. CL. 51T
5 T1221035 Cpok moctaBku 0T 27 gHEH ASSY, SPRAG CL, 51T
6 T3500201 CpOK IIOCTaBKH OT 27 OHe# CIRCLIP,EXT,23.5X1.2
8 3800019-T0301 CpOK ITOCTaBKH OT 27 OHeH NEEDLE BEARING
9 T3550022 CpOK IIOCTaBKH OT 27 nHe# WASHER,HARDENED,M8
10 T3350112 CpOK IIOCTaBKH 0T 27 [HeH NUT M8 X 1.25
11 1220291-T0301 Cpok moctaBku ot 27 gHEH SPACER, SPRAG CLUTCH
12 3800020-T0301 Cpok 1mocTaBku 0T 27 gHel BALL BEARING
13 T3555004 Cpok mocTaBku oT 19 gHe# Washer, 6.4x14x 1.6
14 T3051062 CpOK IIOCTaBKH OT 27 OHe# SCREW,CAP/HD,M6X1X12,ENC,RAW
15 T1220130 Cpok 1noctaBku OT 27 gHel IDLER GEAR, STARTER
15 T1220132 Cpok mocraBku 0T 27 gHEH GEAR,IDLER,STARTER
16 T1220457 Cpoxk noctaBku oT 19 nHel Spindle, Idler Gear
17 T1221050 CpOK ITOCTaBKH OT 27 OHe# GEAR ASSY
18 T1220760 CpOK IIOCTaBKH OT 27 OHe# GEAR,ALTERNATOR DRIVE,33T
19 T1220758 Cpok moctaBKu 0T 27 gHEH GEAR, ALT,B/LASH,ELIM
20 3550200-T0301 CpOK ITOCTaBKH OT 27 OHe# DISC SPRING WASHER
21 3500016-T0301 Cpok 1moctaBku oT 27 gHel CIRCLIP
22 T1220247 Cpok moctaBku 0T 27 gHEH HOUSING,ALTERNATOR,SHOCK
23 T1220325 Cpok noctaBku 0T 27 gHei RUBBER, ALT, CUSH DRIVE
24 3550230-T0301 Cpok moctaBKu 0T 27 gHEH WASHER, HARDENED, M6
25 T3332704 CpOK IIOCTaBKH OT 27 OHe# SCREW,TORX,C/S,M6X14,ENCAP,RAW
26 T3150129 CpOK IIOCTaBKH 0T 27 [HeH BOLT, M8 X 1.25X 102.5
27 T3550603 Cpok mocraBku 0T 27 gHEH WASHER, 6.5X20X2




